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5] 359[ERJI KE#H [HRJ 6 2.36.46 6] 87[@mx T U5~ =KSC 6 2.38.13
7] 28[EE M E2hxxvy T 6 2.41.33 8] 427[H X B E(E) 6 2.42.07
9| 321[/N#k_ f535 =AYARCED 6 2.44.13 10 172Kl &=F eV 177 6 24432
11 322[/Mk & =AYARCE) 6 2.46.40 12] 534|Fh% Al *AKAC 6 24858
13| 632[EH 1BK *AKAC 6 2.54.60 4] 47401E ZHE FHiEAC 6 2.56.02
15] 274|888 3| K#SC 6 25711 16| 62|HF RE LU 6 3.02.99
17] 260[HE & 10015 &5~ 6 3.17.41 18] T11[/NE Y R EFRC 6 34211
2| 1] 224|8iH BM WH a2=7 6 2.24.24 2| 195|58 ZAkL JXEAC 6 2.29.97
3 320[7H #BX =/ALYARCH) 6 2.30.10 4] 445[hEF [ T EFKSRC 6 2.31.77
| 154|FXK = =l 6 2.41.17 6] 444|% S = BFKSRC 5 24177
7] 324|FH X =/ALYARCH) 6 2.42.49 8]  84[mJII /= U5A=KSC 6 24254
9] 524[FKE WK |[EZAAC 6 2.43.10 10 109JNAt E&h SHEREFRC 6 2.43.63
11 618 F¥E Ll 6 2.48.40 12] 368[IUA ZH=D HRJ 6 2.48.67
13 = EE JRCHIFSH 6 2.50.27 14 37 &N E2hxxv T 6 2.50.89
15 110[x & SFIEERC 6 251.11 16] 325[lLXx EE =AYARCE) 6 2.57.23
17] 1934 BB JXEAC 6 2.57.85 18] 20[=f R SpEFsS T 6 3.06.15
3] 1] 434[HE BE =D <IZAC ) 6 2.26.01 2| 128|8kH IEER MHAE 6 2.31.23
3| 362[EE Et HRJ 6 2.34.85 4] 222[dh Il KE WHY21=-7 6 2.38.46
bl 475[JIlir fEABY |H{EAC 6 2.38.50 6] 192[F# E X% JXEAC 6 2.39.85
7] 82| kA E® U5hA=KSC 6 2.40.83 8] 323[ILE FEE =AYARCE) 6 24493
9] 83[EM &h#E 5N E=KSC 6 2.45.76 10 91/hk BX U5h=KSC 6 2.45.87
11] 485[E7 EHEEL 6 2.46.75 12| 153|E%H BT = H#% 6 24850
13 6K =ZEi JRCHIFSH 6 2.48.70 14] 300[F=Z =3} FakBE L 6 2.50.03
15 29[ KB H— E2hxxvy T 6 2.55.28 364 |8 &FIE HRJ 6 DNS
217|%H &1 SEHO—F¥27 6 DNS
XBRFEEF _ oz _
Bl &S| K 4 EZ 2 50 8% B K 2 E4 2 sCEk |
1] 224|giH _ [5E WH a2=7 6 22424 1] 224|51H B[ WHY21=-7 6 22424
2] 410[xA XK RS 6 2.26.15 2] 410 xA X EEE_ 6 2.26.15
3] 276[LIE KB ErEHO—FF27 6 2.28.65 3| 434[HE #B=E =0 <IZAC (B 6 2.26.51
# [ 4] 85(@aJll BX U5 7=KSC 6 22900 | # [ 4| 216[lLIE KE XHOo—F%>7 6 2.28.65
B[ 5] 195[FEB && JXEAC 6 22997 | & [ 5] 85[8JI BX U5h=KSC 6 2.29.09
6| 128[&M IHER HHAE 6 2.31.23 6] 1958 Fk JXEAC 6 2.29.97
7] 445|Fh8 [ R EFKSRC 6 2.31.77 7] 320[7mH #HBXK =AYARC(R) 6 2.30.10
8] 182|&EH E# BEXS21=F7 6 2.31.97 8] 128|%kM@ AR MHAR 6 2.31.23
6 FELF 800m
A Lsy
E:END = E % B4 2 a0 % I = E £ PB4 2 o8k |
T 1] 490[#k  BRAE FAAC 6 2.30.44 2| 420[F%H W =0 < IZAC (F) 0 2.36.04
3| 145K &% BB EFRC 6 2.44.81 4] 212[F@HE  #P S eV 1= B 2.45.56
5| 494[pEEL F=x [HRAAC 6 2.46.71 6] 129]dm  Erf UoA=KSC 6 2.49.71
7 NS JRCHIFH 6 2.561.98 8] 102|AKHA =# [FILHA 6 2.52.76
9] 314[#AK 1t R#%SC 6 2.63.23 10 _146|ME 2k PR ERC 6 3.00.17
11 15[FE e fIEES ST 6 3.03.69 12] _101]BE ¥& LU 6 3.04.28
13 12X HE JRCHIFH 6 3.04.34 4] 303K K&&\ 10015 &5~ 6 3.05.17
15] 167[FK #HE AR 6 3.08.43 16] 170]2W &X MHAE 6 3.18.66
4120 ¥ Sy T 6 DNS 450|EE B= FHiEAC 6 DNS
2] 1] 218[E & EXC1=7 6 2.33.76 2 ARNTIESH JRCHIEH 6 2.33.84
3| 43[FEH =# E2hxxvy T 6 2.38.33 4] 456/ E AP H1EAC 6 2.38.89
5| 358[MHF =EH =AMYARCHE) 6 2.39.43 6] 453[%H 0O ¥t H1EAC 6 2.41.89
7] _295|# UAEE F—LEX 6 2.44.69 8] 349|E&E T FAY—F+XvbE 6 2.46.21
9] 16|EA/ NE [AEESIST 6 2.47.61 10 160|HE+&E ™MHF [MAARE 6 2.49.98
11 _115[FE F& UohA=KSC 6 2.51.40 12 CEHE BE JRCHIEFH 6 2.52.12
13 121[AF =EE U5~ =KSC 6 2.52.70 14] 454|E88 #74H [HEAC 6 2.64.31
HEEETRES =AMYARCHE) 6 2.59.68 16] 497|XJIl EZH *AAC 6 3.00.18
17] 248[EE 1&& JRXEAC 6 3.03.20 18] 147578 BX PR EFRC 6 3.21.40
KR RE _ 2 _ .
Bl &5 | K 4 B2 2 a0 5% I 2] K £ PB4 2 FCEk |
1] 490[#sk  BREE RAAC 6 2.30.44 1] 490[#Ak  BR4E *AAC 6 2.30.44
2] 218iE RE= EXC21=7 6 2.33.76 2] 218[HE R=E EXS1=7 6 2.33.76
3 ANTEES: JRCHIFSH 6 2.33.84 3 ARNTEES JRCHIFEH 6 2.33.84
| 4] 43[mHE EE E2hzxxvy T 6 23833 | # [ 4] 420[%FH wmE =0 <IZAC (B 6 2.36.04
B [ 5] 456|& E &M HiEAC 6 23889 | & [ 5] 43[FEH = E2hxxv T b6 2.38.33
6] 453|H%0 1t HiEAC 6 2.41.89 6] 456[FE REAJH H1EAC 6 2.38.89
7] 295|148 U&f F—LEX 6 2.44.69 7] 358 =H =AYARCE) 6 2.39.43
8| 145X B% PEREFRC 6 2.44.81 8] 453|H% 0O X3¢ FEAC 6 2.41.89




FEAEERESULT 20150705

S5&BF 800m
ZPN:T:
IR K % B4 2 LR ] = K 2 B E2 SOE%
1] 93[&8 H# UM =KSC b 2.06.72 2] 438[ElE IR =D<IZAC G) 5 2.27.90
3] 118[AF Zib FRERC 5 2.37.83 4] 230|FH B WH>1=7 b5 24155
5 A19fEll #EH [BEHE— 5 2.43.21 6] 437[=W RN =0 <IZAC G b 246.07
7 372|858 B HRJ 5 24863 8] 451[&ZE & ZBKSRC 5 250.38
9| 17788 —F Ve azy b 25223 10 327|E% X& ZAYARC(ER) b 25414
1] 293[/hE A FREEE 5 25565 12] 553k F3F JACRE 5 257.72
13| 448[BH =& ZEKSRC 5 258.95 14 =M E JRCH#IEZS 5 3.02.33
15| T14[1LE§  KAM FRERC 5 3.12.68 16|  12[%=F JRCH#IEZH 5 3.14.02
1978 H# A2 JREAC 5 DNS 43| XT i E L 5 DNS
2 1 447 KA BT ZEKSRC b 2.37.85 2] 326|EH =A =AYARC(ER) b 244907
3 8| BEBAEE |JRCHIFH b 24724 4] 339[FIl ZEEE EESST 5 24835
5] 200[{EH+F A5 JXEAC 5 251.60 6] 417[6X & EEE— 5 2.53.68
7] _450[KRE X&t ZEKSRC 5 25450 8] 436[Ext FE3F =D<IZAC G b 25861
9| 530| AR KIE ZAAC 5 25967 10| 186|gEH =F EX>2—-7 5 3.08.43
11 T1[FHH BX JRC#EFS b 3.12.34 12| 163|8E K& = | 5 3.13.13
13| 275[EF =4 K#SC 5 3.18.22 14| 52|HIF B Ea L 5 3.02.62
15|  40[FR BT Ehzx¥y T b 3.23.44 116[/Mk_EsS FIRERC 5 DNS
244 1% 70 SXZR)—LA b DNS _ _ _
3| 1] 435I £Fsrp =D <IZAC G b 2.38.84 2| 452|¥E K& T BFKSRC 5 2.39.15
3] 33[IuA EEE Ehzx¥y T b 24137 4] 126[3F HX MHERE 5 24164
5] 298[E0 AR FkEE 5 24418 6] 198|%&#E Kt JXEAC 5 24449
7] _446| KA EFE ZEKSRC 5 24751 8] 10[IlEg  A¥ JRCHIEZH 5 24812
9 3[3gx =R RS 5 24842 10| 449[/Nig EA ZEKSRC 5 25377
11| 374[%B = HRJ 5 25567 12| 328|/\kz 2= =AYARC(E) 5 256.83
13| 232[Fim & WHSa1=7 b 257.40 14| 115|E@H ®= FIRERC 5 3.00.91
15| 49[fnE = LA 5 3.01.00 16| 178|HA & Sk a7 b 3.01.81
17] 555[2) EXB [BEJC 5 3.18.80
ABRATE=E _ e _
Bl EE| K E£ = S0k [l 75| K Z E® = OBk |
1] 93[&R i U5 =KSC b 2.26.72 1 93|&R i UM 7=KSC b 226.72
ANEEEEET? PR ERC 5 23783 2| 438|EIE HR =0 <IZAC (FI) b 22790
3| 447 XA B ZEHKSRC 5 23785 3| 118|HF = FIRERC 5 23783
# | 4] 452|%= KB ZEKSRC 5 23915 | # [ 4] 447 KA B Z BKSRC 5 23785
[ 5] 33[WLA_ HEEH E2hzx¥y T b 24137 | & [ 5] 435|IIT_f£8% =0 IZAC G 5 23884
6] 230[FH EH WHSa1=7 b 24755 6| 452|8E X& ZBKSRC 5 239.15
7| 126[F 3K HHRE 5 24164 7] 33[ILA & Bhzx¥vy T b 24137
8] 419l FiEH |ESE— b 24321 8] 230[FH =0 WHS21=-7 b 24155
&4 F 800m
ZEN;
EZEN = K % FIEA 2 LBk I = E % B4 E2 8% |
T 427])I% HET  [REHKSRC b 24574 2] 360| L B4 =AYARCE) b 2.51.62
3| 137|F#H F& UHM=KSC b 2.53.08 AR Edhz¥y T b 25424
5| 466(FE HBZE EHEL b 2.56.95 6] 149[JIIx £ PR ERC 5 257.06
7] 134[BRE BFE UM =KSC b 25719 8] 426|FFH FER [ZEHKSRC 5 25995
9| 446[FH@ I B1BAC 5 3.05.82 10 GRS JRCH#IEFH b 3.07.68
111 315|5&F &= A#SC 5 3.09.35 _
2 429 & F=13 2 EFKSRC 5 2.39.59 21 213[¥¥k  9RH VeV a7 b 2.48.54
3| 135[NEE HE3x UHM=KSC b 2.49.39 4] 369[HH EK EEXEPI 5 25055
5 N JRCHEH b 2.50.80 6] 136[7MEE mE U5 =KSC b 251.48
7] 443[EFX Fk FHEAC 5 2.54.01 8] 361[FEFKR AFEF [Z#AYARCGE) 5 25759
9] 468|ME & EHEEL 5 3.13.79 10] 223[/MER ZEM [EXAYa2=7F7 5§ 3.14.62
KBRATEE e _
B | E=| K EA V=2 = a0 8k 5| &S| K 4 R4 = SOBK |
1] 429|&%R =B ZEKSRC b 2.39.59 1] _429[&A =13 X BKSRC 5 2.39.59
2] 4271)I# HMETD [XEKSRC b 24574 2] 427])I# HED [XEBFKSRC 5 24574
3| 213|Hix  7ReA VYT a7 b 24854 3| 213|%Hik #rE SV 4 a7 b 24854
# | 4] 135|RE m% U5A1=KSC b 24939 | # [ 4] 135|NE =% U5 =KSC b 2.49.39
8 bl 369[#AH E& EEY ST 5 25055 | & 5| 369|MH B EEHY ST 5 2.50.55
6 HEEE T JRCHEH b 2.50.80 6 HEEE T JRCH#IE5 b 2.50.80
7| 136|471 K= UM =KSC b 251.48 7| 136|M#E M= U5 =KSC b 251.48
8] 137|=# == VD5 =KSC b 2.53.08 8] 360[TE =4 =AYARC(E) b 251.62




FEAEERESULT 20150705

6EEF 100m
T
(B[ X | K # FEZ = - ] = K _Z MEZ = =5 |
T[ 1] 220[F% A [KRE>a1-7 6 12.75 2] 1] bi5|FE = [&RAAC 6 13.71
B 2] 550|EA BB BiEJC 6 14.64 Bl 2] 477|880 ER HIEAC 6 14.50
[ 3] 367[RE _BA__ [HRJ 6 15.46 [ 3] 283[FM % 72 1= HJAC 6 14.87
M4 299/NE A [ THREEL 6 15.54 4] 366|AA EA __ |HRJ 6 15.37
5| 337[HE =A |[EEITT 6 17.15 5| G8|EE @A |mlME 6 15.38
m 516|F% _BA |ZAAC 6 DNS m{_6] 132[%2 %A _|NFEAE 6 15.83
137 5kH &7 [HEAC 6 DNS 7| 552|&H ZAE |JACRE 6 17.01
SOEA b [EILH 6 DNS 106 FfH & I X EAC 6 DNS
31| 282|=8 EF |&I-#HJAC 6 13.63 A1 _426|HE_ e % ‘() 6 14.03
B[ 2] 365|E e [HRJ 6 14.99 B[ 2] 281[FEME f74E |&I=HJAC 6 1418
[ 3] _b57/[BHE L&A |ELH 6 15.00 [ 3[ 194[HE R I XEAC 6 15.48
m|_4] 476\ tta | HEAC 6 15.80 B 4] 336[AR ERAR [BEXr5J 6 15.64
5| 131[EF_BA ET 6 15.90 5| 363[#aF sk [HRJ 6 15.92
m[_6] 336[mA WA [EXs T J 6 16.06 m[_6] 130[FF MR |[HHAAR 6 16.15
b1 e JACERE 6 DNS 7| 508[F# =i JXL7—F 6 16.22
5090EH 4g  [&AAC 6 DNS 8l_bo0lIO0__AfE JACZE 6 17.04
5_1] 280[IUR_AFe__ [Z&I-HJAC 6 13.31 6| 1] 34/|0HMm =& [HRJ 6 13.52
B[ 2] bAAIAE Bk JACRE 6 13.97 B[ 2] 279[fhA I [ I=HJIAC 6 1421
[ 3] 424[EE ExA B R 6 1421 - [ 3] 330[HR _mE |[EEr o J 6 14.91
Al 4] 191|pEs B JXEAC 6 14.27 Al 4] 5425k Bl JACR®E 6 15.01
5| 127[&H @E  |EHFAR 6 14.86 5| 113[KIE_ &3  [HEHRC 6 15.20
m|_6] 334[FEE K  |EET T T 6 15.98 m|_6| 185|#E %kl |BA>1-7 6 16.23
7| 56[FL [EAER [millMH 6 17.20 7| _416|/RE iix  |EiE— 6 16.43
36 ] KZE  [HRJ 6 DNS 8 _Gb|EHh sk [EILH 6 18.00
71| 112|hE E&k  [HEBRC 6 13.61 8|_1| 3118 A¥E [FAU—FxouF b6 T4.7]
B 2] 184[EB =% |[BACa1-7 6 13.92 B[ 2] 505[E)I_BD JXL7—F 6 14.88
[ 3 BAI[NER RN |JACRE 6 15.05 -3 181l B |[BATUa—7 6 15.37
M| 4] 320[kaE BAH BEXo o T 6 15.13 m|_4] 357|%%H i |HRJ 6 15.81
5| 506[\LEH —F& JXL7—F 6 15.21 5| 4143k~ =4 |Eabs— 6 16.16
m|_6| bG4|hHN J&FE || 6 15.94 m|{_6] 278|HF _E# __ |%I=HJAC 6 16.95
7] 360[80 A |[HRJ 6 16.09 7| _533|5kik_t#h#Em | RAAC 6 1754
8 415/NH &  |EEE— 6 17.06 L P E DA DNS
9 1] 89| M _EB&  |UBhEKSC 6 14.63 T0[_1]_ 30[lLH A |29 X*xvJ 6 13.84
@ 2] 504LaA B4t JXL7—F 6 14.69 B 2] 487[FEA _nE  |EHECL 6 14.72
[ 3] _3T[&ZE A8 |[BEFXF*vy T 6 15.00 - 3] 353|%&A i+  |HRJ 6 14.97
m|_4] 263 m: BEax (10015 &5 > 6 15.25 m| 4] 526[#k% %8k |ZAAC 6 15.58
5[ 310|—2 %##&l  |[7AU—F*vF 6 15.30 5 79[ZE hA [UohFEKSC 6 15.73
m[_6] 356|m Hﬁrs g4 [FRJ 6 15.59 m[_6] 262[lLA& EEZzsr [10015 &5~ 6 16.20
7| 176|EE# BF [vriesrrtvazr 6 15.03 7 413[E)_ 5 i 6 16.24
T1_1]_/8|@x W+ |[ObhAEKSC 6 T4.00 T2 1] 77/|5% BA |[0bhEKSC 6 12.96
B[ 2] 307[HE WA |7RU—Ftxvk 6 14.84 [ 2] 303720 A 7 |7AU—FxvF 6 13.53
[ 3] 350[E8 % HRJ 6 14.97 - 3] _155|ERE &% |=mHk 6 1450
m[_4] 261cH A [10015 &5~ 6 15.31 |l 4] 26|&1 ,mﬂz &Y IARIN X6 15.21
5 525|/Nk2 EIAE FKARAC 6 15.79 bl b23B&H H&E EAAC 6 15.91
m{__ 6] 173|505 &3] ST B 15.82 m{_ 6] 486[XIE %#ﬁ EHEL 6 16.03
7| 412|B% k| e 6 17.07 7| 411kl =B |Eiss— 6 16.33
T3[_1| 481(%EH e |[HBAC 3 1474 4174 _&E¥ Doh-KSC 6 13.74
@ 2 19[R BA SLEFY 5T 6 15.76 B[ 2| 520[MAK E=IE  |[EAAC 6 14.66
[ 3[ 227 HA _ |[kRE>1=7 6 16.02 - [ 3] _150[a[is_ 3B [HEAC 6 14.81
Al 4] 507|A A JRXL7—F 6 16.38 m|_4] 479[Fx KB |[A1BAC 6 14.89
5| 302|=#F A F AL 6 16.65 5| 346[/NE & HRJ 6 14.90
m[_6] 3/0[F% —#f _ [FRJ 6 17.44 m|_6| 225|5M1 ZH |[kE>a1-—7F7 6 15.14
512k B x4 & 6 DNS 7|18 i SLLEEY ST 6 15.75
15| 1| 223|F¢ m  |[kH>a1—-7 6 14.00 6
B[ 2] 518[EM =8 |[%AAC 6 14.89 b}
- 3| 301|=#H X F ke 6 15.26 .
| 4] 478|FAT %i FH1EAC 6 15.69 A
5] 369[5A HRJ 6 16.69
m[_6] 60 E ﬁﬂtﬂt 1L/ [ 6 16.94 m
7 338E Ba BT T 6 17.00
ARHERFRFEREL —R _
E[&E=] K 2 TR e Esal
11220 [5= A |[KkH>1—-7 6 12./1
2] 280 [IUF_AK¥E _ [A&I=HJAC 6 13.05
3 77 |H#E BA  |[U0o6hKSC 6 13.15
R [ 4[ 515 (& =8 |[RAAC 6 1343
B¢ [ 5] 303 [#a—u #HevF|[7RU—Fxvk 6 13.49
6] 282 [E.8 BF  |&I-DHJAC 6 13.65
7] 347 |HM _=A _ [HRJ 6 13.77
8l 112 |fhE Bk [ HEERC 6 13.83
14




FEAEERESULT 20150705

_ 6 FEXLF 100m
1 E [ &= TEs = =5 o B[ &= K % EZ = = |
T 1] 316[RTIEH EW |=-tJAC 6 13.17 21 1] 487|ak = JRAL7—F_ 6 14.70
Bl 2] 220|5F& X EXS1=7 6 14.79 Bl 2] 187[IuF FFE Px—vI4 & 6 14.76
- [ 3] 48738 FHik JXL7—F 6 15.33 -3 272|ABE E=X |[sr0Ho—F*>5 6 15.06
M4 12[3t8H OF HILELEY 5T 6 16.02 |4 159|RAE #WEF  |[HHA=R 6 1557
5| 379|EE & HRJ 6 16.21 5| _36|HER & BREY SAKYN-Z_ 6 16.12
m[_ 6] 122|F8)Il E& UE5A=KSC 6 16.32 m[_ 6] 98|EE k7% |mIIHE 6 17.10
7] 171[#E & HEAC 6 16.93 7] 348[&M % FREELE 5 17.74
8 _00|pEH ™ 5 LI 6 1747 8| 407/ 1EE A — 5 18.55
3 1] 451|H® &K H1EAC 6 15.08 4 1] 273 AR BT |[s-Ho—F*>7 6 14.82
B 2] 124|EH ohrfa |[Uoh-KSC 6 15.45 ‘[ 2] 351[lLE &B FX)—F*vE b 15.24
3317 S we 72 1= JAC 6 15.83 - 3] 401|MHe HEE |EFFE— 6 15.32
m[_ 4] T4MA_+ & HILELEY 5T 6 16.05 m[ 4] 188[F@E ik six—v1d () 6 15.39
5| 173/ =E=HE [HRAC 6 16.21 5| 99[&HJI_ZEE  [mLH 6 15.77
m[_6] 380k E.Z  [HRJ 6 16.42 m[ 6] 37dtE == RET TARYN-Z_ B 16.77
7] 918 Hohr |ELH 6 17.32 7] 483[EE & JXL7—F 6 16.80
246|ipE  Imit JXEAC 5 DNS 8| 161[I\A BKE [MFA=R [§ 17.15
1] 1/|5% =g lELrs5J 6 13.78 6| 1| 484|#% H=/Y JXL7—F_ 6 14.38
B 2] 319[RAR HFXK [A&IZHJIAC 6 13.84 ‘2] 277%H s& WH>21-7 6 14.46
-3 174[M =28 HEAC 6 15.29 - [ 3] 320(H+"_HEB 7RI JAC 5 15.38
m[ 4] 4552 &&= F1EAC 6 15.43 m[ 4] 193[ L& #%k= = HH% 6 15.42
b 1260 e UV5A=KSC 6 15.61 5| 100[X# #F  |eLH 6 15.74
m|[_6] 247|EHA ZEF [ XEAC 6 15.63 m[ 6] 162|5% T= RFARE 6 16.09
7] _354|HtRE_ fER FAU—FFxv k6 16.12 7] _402|FE BE BEE— 6 17.58
8] 925t Z= |EIIH 6 16.24 8| 38[EEE; MO [REJ IAKIA-R 6 17.67
T 1| 22|20 = SN 7 Y Il 6 14.97 8 1| 321|&H8 =0 72 (21 JAC 5 14.01
B[ 2] 278[#M@E %£E WHS21-7 6 15.44 w2 1T11LE = U5MEKSC 6 14.49
[ 3 126[BME & U5M7KSC 6 15.46 [ 3] 194 tH &t = H*® 6 15.13
m 4] 93l &HZ=  [ELHE 6 16.16 m_4] 403|XE C&kH |BEE— 6 16.86
5| 457[EN _m= HEAC 6 16.30 5| _45[REIL_ ##E EE eI 16.87
m[_ 6] 240 e JXEAC 6 16.82 m[_ 6] 250[h8 Bx JAEAC 5 17.04
7] 355[/N\Fx _Wod [FAU—F*xvr b6 16.87 7] 1637 _HHY RARE 6 17.58
1753 F ®= HEAC 5 DNS 480|pEFE B FEAAC 6 DNS
9 1] 182[/BA FBrn TLlE-mzq (B 6 14.55 101 113|=L_ &= U6MEKSC 6 14.06
B[ 2] 363[HjI]_ T EEXT T J 6 14.97 & 2| 345|mEN_#H= FAkEL 5 15.14
VAL T U5M7KSC 6 15.34 3] 404 #BL | EEEC 3 15.88
m[_4] 459|=1E A% |[EHEL 6 15.37 m_ 4] BI/NER BF |[BhxEfy 7 6 16.36
5| 23[E kE |[ZWMFZYITIL 6 15.72 b| 196 =& |SHE#® 6 17.01
m[_ 6] 94|HFAX Fx  [ELHE 6 16.22 m[_ 6] 502[)IO0_ EAEZE [B&EJC 6 17.01
7] 294[dkO0 ®=E F—LEX 6 17.51 7] 164 IURR BRF | RFARE 6 17.36
T1|_1] 183|EIE %= e 75.00 T2]_1]_bG4|EAJl_ &Lt [RA=ZSRC 3 14.84
B 2] 376|K&E K&  |FRJ 6 15.17 ‘[ 2] 405| L B= EEE— 6 15.74
- [ 3] 479 @ JXL7—F_ 6 15.37 - [ 3] _196[#E  #E = HH% 6 15.81
m[ 4] 33|FHE =k IRE8 SARYN-A_ 6 16.28 m[ 4] 312[6E & 10015V &5> 6 16.48
5| 95[liO FiEk LA 6 16.78 5| 503[EE £ H&J C 5 16.84
m[_ 6] 269[KAF L =H0—Fx>7 6 16.85 m[_ 6] 165|BA& #i+ RHAR 5 18.26
7] 148|FHE =W F B ERC 6 16.96 114N k&E U5MFEKSC 6 DNS
131 34[AB 145 REaD SARIN-A_ 6 14.49 T4 1 37786 B2 HRJ 3 14.94
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